Theory of Automata (CS402)

Assignment No.3 Solution 

Total Marks: 20







Solution 

Question No 1
Marks 10
Consider the following Moore machine 
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Drawing the transition table

	Old States
	New States after reading
	Characters to be printed

	
	a
	b
	

	r0-
	r2
	r1
	1

	r1
	r1
	r3
	0

	r2
	r1
	r2
	1

	r3
	r3
	r2
	0


Running the string “babbab” over the above: 
	Input
	
	b
	a
	b
	b
	a
	b

	State
	r0
	r1
	r1
	r3
	r2
	r1
	r3

	output
	1
	0
	0
	0
	1
	0
	0


Output is 1000100
Converting Moore machine into an equivalent Mealy machine
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Question No 2
Marks 10
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Taking FA1 c  and FA2 c  
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Fining L1c ∩ L2c
	Old States
	New States after reading

	
	a
	b

	Z1±=(a1, b1)
	z2≡ (a1, b2)
	z4 ≡ (a2, b2)

	z2≡(a1, b2)
	Z1= (a1, b1)
	z3≡ (a2, b1)

	z3≡(a2, b1)
	z2≡ (a1, b2)
	z4 ≡ (a2, b2)

	z4 ≡(a2, b2)
	Z1= (a1, b1)
	z3≡ (a2, b1)


Here we have diagram of L1c ∩ L2c
[image: image5.png]



Now taking the (L1c∩ L2c) c  
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Hence L1c ∩ L2c is regular so its compliment is also regular. 
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